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  ا������ت ��� ا���اد ا���
	� وا������
 

 ���ب 
�ون أ��اسا� .1
  ���1�ة

    
        

  
  


�� ا��
	�� ا��������ل  �� :A 70 56 7 3 2 5= − ÷ + × −  
�����                       :                A 70 8 6 5= − + −   
A:                                                        أي 63=   

  ��2�ة�
    

        
  
  
  


�� ا��
	�� ا�����  ���1ل��:          B 6 15 9 2= × ÷ ÷  
�����                               :            B 90 9 2= ÷ ÷   
B                           :                       أي 10 2= ÷  
B=                                             :            أي 5   


�� ا��
	�� ا�����  ���2ل��        :C 30 19 8 1= − − +  
�����                                           :C 11 8 1= − +   
C              :                                     أي 3 1= +  
C:                                                        أي 4=   

 ا����ب �� ا���اس .2
  ���3�ة
  

      
  

      
  

�� ا��
	�� ا�����  ���1ل��  :    ( )D 9 8 4 2= + − ×  

�����                       :                  D 9 4 2= + ×   
D                      :                          أي 9 8= +  
D                  :                                 أي 17=   


�� ا��
	�� ا�����  ���2ل��   :( ) [ ]E 23 7 6 3 (7 2 2) 8= + ÷ − × − × −  

�����                                                   :[ ]E 30 6 3 3 8= ÷ − × −   

E:                                                                 أي 30 6 1= ÷ −  
E                  :                                                           أي 4=   

�ح .3�  )�ز&%$# ا�"�ب �!  ا���� وا�
      ���4�ة

  
  
  
  
  


�����ل  ����	
×7  ا�� 2,5 + 3× 2,5�������� ��������   
  

������ �����ت  ��

��ب (
	�� ��ون أ&%اس �
�دة ���  
����� ا���, وا���ح�  . ا��1ب وا����0 &	/ إ ��ز 

����ت  
�� أو4 �� ��ا3/

��ب (
	�� 6�7 أ&%ا�5 �
�دة ���  
  آ/ &%��5 ��ءا ��<&%اس ا��ا0��3 => ا��� (��;� إ�: أن �9	8


� ذ�A ا��� C	� ون أ&%اس و�� ��	
  %ا�� ا�����0ا��

 a و b و c  0��D�  : أ��اد 

( )× + = × + ×a b c a b a c  

����ت �E%ن �� 

��ب (
	�� ��ون أ&%اس �
�دة ���
�����  ا��1ب������ ا���, وا���ح F�7 أو �� �  

6���� �� ���ر ا��
	�� إ�: ���  F�7 0�  . وا���
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♦ #*&��×7     1ا� 2,5 + 3× 2,5 =17,5 + 7,5 
                                   = 25  

♦ #*&��)     2ا� )7× 2,5 + 3× 2,5 = 2,5× 7 + 3 

                               = 2,5×10 
                                      = 25  

  ���5�ة
  
  
  
  
  


�� ا��
	�� ���ل  ��( )100 1,61 0,88× −�������� ��������   

  
�&*#ا� ♦�1                      ( )100 1,61 0,88 100 3× − = ×0,7 

                                                     = 73  
♦ #*&��)     2ا� )100 1,61 0,88 100 1,61 100 0,88× − = × − × 

                                            =161−88 
                                                    = 73  

  

 a و b و c 0��D�
�H أ��اد � :( )b c>  

                 ( )× − = × − ×a b c a b a c  


